log AL luminance difference 3
95 threshold Lg=630cd/nf

y experiment:
0,40 AD 0,1s G
0,47 average




log AL luminance difference o
95 threshold Lg=63cdinf

y experiment:
0,40 AD 0,1s G
0,47 average




log AL luminance difference 3
- threshold Lg=6.3cdinf

y experiment:
0,40 AD 0,1s G
0,47 average




log L/AL luminance contrast o
sensitivity threshold Lg=630cd/?

T experiment:
AD 0,1s G

1 average




log L/AL luminance contrast | _
sensitivity threshold Lg=63cd/?

T experiment:
AD 0,1s G

1 average




log L/AL luminance contrast , _
sensitivity threshold Lge6.3cdin?

T experiment:
AD 0,1s G

1 average




L/AL luminance contrast D
sensitivity threshold Lg=630cd/n?

40T X Yy  experiment:
A 0,34 0,40 AD 0,1s G
30+ 0,47 average

20T




L/AL luminance contrast 0
sengidvity threshold  Lg=6sed/n?

40T X Yy  experiment:
A 0,34 0,40 AD 0,1s G
304 0,47 average

20T




L/AL luminance contrast o
sensitivity threshold Lge6.3cdin?

40T X Yy  experiment:
A 0,34 0,40 AD 0,1s G
304 0,47 average

20T




